{

. /
> éf sy /
Z;}Q&é;;;zm:af”? nons

X(t-1)

X ()

~0.4 1 -0.4

X(21) x(t/2)

4
—s o 5

X(1-t) X(1+t/2) X(-2-2t)

0.4 T 0.4 T

~Q.1

-0.2 -0.2

-0.3 —0.3

i H _ i
1 —0-2s o s o o 5 o.2s o [

o Ak N O
méﬁ@é"\ e  y2fatnurg

>
<

@&(ﬁg@w% : K-t ‘}) X éfﬁf,} |
XJ {u:} W“‘}{‘\}

5
3%‘ ngures }f{u f € Joaresponol i?f’

A1), A ) L), K5,



chihw
Text Box
x(t-1)

chihw
Text Box
x(t+1)

chihw
Text Box
x(-t)

chihw
Text Box
x(2t)

chihw
Text Box
x(t/2)

chihw
Text Box
x(1+t/2)

chihw
Text Box
x(1-t)

chihw
Text Box
x(-2-2t)




